B (Pre-test questions)

R EE AR IER R TR

(Single-Choice Question: Please select the one you think is correct.)
1.48+33= A7l B 81 C82

2. 152+129=  A271 B281 C291

3. 82-37= A 45 B 55 C44
4.287-168=  A109 B119 C129
5.67X5= A 315 B325 (C335
6. 82X 6= A 482 B492 C502
7.98 7= A 34 B 24 Cl4
8.108+3= A 34 B 46 C36

Ne)

. P NAER AT R AR TS AT A, AP P E]E . B2 T = iR £k B A
3R ) Pl £ S SR AR T AT 2

(A and B are walking opposite each other means walking face to face, from both sides
towards the middle. So, which of the three line drawings below describes walking

opposite each other?)
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B

_—

—

10. — 8RR 45 2500 N SRR e, RZEARE /NI AT I 44 TK,
PR/ NATRE 67 ToK, 5 /NI JaHE. AR AREE 2 0Tk ?

(A truck and a car are traveling opposite each other from A and B. The truck travels
44 km per hour and the car travels 67 km per hour, they meet after 5 hours. How
many kilometers apart from A to B?)

A 402km B 455km C 555km



FEBIZFE I8 KL (Worked example materials)

(1) T FH&HH (No Subgoal-Worked Example)

BIRE 1: /NEARVN S BRI R 2 P HARXS T 4T, E50/NBAFE i R T 45
NEFATRE 60 TR, NEZMHRBES/MIITH 15 TX, & 2 /MiE,
WG, & PR S DTk ?
(Example 1: Ming and Hong move opposite to each other from A and B respectively.
It is known that Ming drives from A and travels 60 km per hour, while Hong rides
from B and travels 15 km per hour, and the two meet in 2 hours. What is the distance
between A and B?)
fif(Solving):  (60+15)X2

=75X2

=150(km)
Z(Answer):  FHZPHIAAFE 150 F2K. (The distance between A and B is 150 km.)
BIRE 2: NERVNE S HIFIR R 2R TIAT, EA1/N T 208 B R/t
70 TK, DERIFERBEAS/NR 50 TXK, £ 3 PRHHE, 1§ iEF 2R
BEZTK?
(Example 2: Long and Yun move opposite to each other from A and B respectively. It
is known that Long driving speed of 70 km per hour, Yun driving speed of 50 km per
hour, 3 hours later the two meet. What is the distance between A and B?)
fif(Solving):  (70+50) X3

=120X3

=360(km)
Z(Answer):  FHZPHAAFE 360 T2K. (The distance between A and B is 360 km.)
B 3: S ERIR A A B POSRARXTTTH, A A SRIT i S EER/NAT 38 T
K, M BIBITHBISER/DRAT 45 TK, 4 /DR ERHEME, A, BRBKE
BREZATK?
(Example 3: Two cars are traveling opposite each other at the same time from A and
B. The car driving from A travels 38 km per hour and the car driving from B travels

45 km per hour, and the two cars meet after 4 hours. What is the distance between A



and B?)
fift(Solving):  (38+45)X4

=83 X4

=332(km)
Z(Answer): H ZPIHIARFE 332 F2K. (The distance between A and B is 332 km.)
B 4 PEE R FER ARBHXTE, FRE/DRMT 4 TK, Z8E/DEAT 32
TRK,Z5 4 /N ARE, P D AHEE S D TK?
(Example 4: Two ships travel opposite each other from two ports A and B at the same
time, ship A travels 44 km per hour, ship B travels 32 km per hour, and the two ships
meet after 4 hours, how far apart are the two ports A and B?)
fif(Solving):  (44+32)X4

=76 X4

=304(km)
Z(Answer):  FHZPHAEEE 304 T2K. (The distance between A and B is 304 km.)

(2) FH®BEH (Subgoal-Worked Example)

BIRE 1: /NEARVN S BRI R 2P HUARXS T 4T, E50/NBAFE i R T 45
NEHATRE 60 TR, NEZMHERBES/NMITH 15 X, & 2 /MiE,
WG, & PR S DTk ?
(Example 1: Ming and Hong move opposite to each other from A and B respectively.
It is known that Ming drives from A and travels 60 km per hour, while Hong rides
from B and travels 15 km per hour, and the two meet in 2 hours. What is the distance
between A and B?)
fif(Solving): 60X 2=120(km)

15X2=30(km)

120+30 =150(km)
Z(Answer):  FHZPHAAFE 150 F2K. (The distance between A and B is 150 km.)
BIRE 2: NERVNE S HIFIR R 2P TIAT, EA1/N T 208 B R/t
70 K, DERIFERBEAS/NR 50 TXK, £ 3 PRHHE, 1§ iEF 2R
BEZTK?



(Example 2: Long and Yun move opposite to each other from A and B respectively. It
is known that Long driving speed of 70 km per hour, Yun driving speed of 50 km per
hour, 3 hours later the two meet. What is the distance between A and B?)
fift(Solving) : 70X 3=210(km)

50X 3=150(km)

210+150 =360(km)
Z(Answer): H ZPHiAHEE 360 T2K. (The distance between A and B is 360 km.)
B 3: B ERIR A AL B PERAXTTTH, A A SRITH S EF /AT 38 T
K, A B IRITH BT SER/DRAT 45 TR, 4 /DEEREMRE, A B FERKIER
BRE LT
(Example 3: Two cars are traveling opposite each other at the same time from A and
B. The car driving from A travels 38 km per hour and the car driving from B travels
45 km per hour, and the two cars meet after 4 hours. What is the distance between A
and B?)
fif: (Solving) 38 X 4=152(km)

45X 4=180(km)

152+180 =332(km)
% (Answer) HZPHHBAHFE 332 F2K. (The distance between A and B is 332 km.)
Bl 4 PIEZ R RN ARBHXTE, FREPIT 4 TK, ZRE/PEAT 32
TARK,EE 4 /NS AHIE, P D AHBE S D TFK?
(Example 4: Two ships travel opposite each other from two ports. A and B at the
same time, ship A travels 44 km per hour, ship B travels 32 km per hour, and the two
ships meet after 4 hours, how far apart are the two ports A and B?)
fift: (Solving) 44 X 4=176(km)

32 X4=128(km)

176+128=304(km)
Z(Answer): H ZPHiAHEE 304 F2K. (The distance between A and B is 304 km.)

(3) WA FEHARS A (Individual Choice Subgoal-Labeled Worked

Example)



BIRE 1: /NERUNC Sy ) R B AR Z P A T AT, EA/NBE R RITES
/NEFATHE 60 TR, /NLEZHH KB ES/PRTE 15 XK, &2 P RE,
WAAEE, ) ZRHAHEE S D TK?
(Example 1: Ming and Hong move opposite to each other from A and B respectively.
It is known that Ming drives from A and travels 60 km per hour, while Hong rides
from B and travels 15 km per hour, and the two meet in 2 hours. What is the distance
between A and B?)
BEESXELEHUTEHEFEBMIEFHED . (Please write the answers to the
following multiple-choice questions on your answer sheet.)
1 R E, FTHEHEOMIRIEEE, #2itH: (According to the question, to
calculate the distance between A and B is to calculate what?)
A. /NEHAIZNAL ) 22 (Speed gap between Ming and Hong)
B. /NHAI/NZ IS FEAD (Sum of the distance travelled by Ming and Hong)
C. /NHAINZLEE R (Speed sum of Ming and Hong)
2. RVNEHANALHERSE, B 24T RPN, ABATTR B AR 70 )2 2 D ToK? (Tt
is known the respective speeds of Ming and Hong, so how many kilometers will they
have each traveled after 2 hours of travel?)
A.75 30 B. 120 75 C. 120 30
3. HAPHAHEZ DF2K? (What is the distance between A and B?)
A. 150 B. 120 C. 165
fif(Solving): 60X 2=120(km)

15X2=30(km)

120+30 =150(km)
Z(Answer): HZPHAAFE 150 F2K. (The distance between A and B is 150 km.)
BIRE 2: NERVNE S HIFIR R 2P TIAT, EA0/N T 208 B R/t
70 TK, DERITFERBEAS/NR 50 TXK, £ 3 PRHHE, 1§ iEF 2R
BEZTK?
(Example 2: Long and Yun move opposite to each other from A and B respectively. It
is known that Long driving speed of 70 km per hour, Yun driving speed of 50 km per

hour, 3 hours later the two meet. What is the distance between A and B?)



BEZEBALELEHD TEFSKIERHIEIN. (Please write the answers to the
following multiple-choice questions on your answer sheet.)
1 REEE, HEPOWHEIEEE, #i2itH: (According to the question, to
calculate the distance between A and B is to calculate what?)
A. NEFVNEIHEEE % (Speed gap between Long and Yun)
B. /NEFUNEFIEEFEFT (Sum of the distance travelled by Long and Yun)
C. 'NEFUNAFIEEF (Speed sum of Long and Yun)
2.EHVNIEAUN R HPRE, R AATE 3 /N JE, ABATHIEREE 222 ? (tis
known the respective speeds of Long and Yun, so how many kilometers will they have
each traveled after 3 hours of travel?)
A. 120 210 B. 150 120 C.210 150
3. FWHAREE £ /DF2K? (What is the distance between A and B?)
A. 120 B. 150 C.360
fif(Solving): 70X 3=210(km)

50 X3=150(km)

210+150 =360(km)
Z(Answer): H ZPHiAHEE 360 T2K. (The distance between A and B is 360 km.)
B 3: B ERIR A AL B PERAAXTTTH, A A SRIT H S EF /AT 38 T
K, A B IRITH BT SER/DRAT 45 TR, 4 /DEEREMRE, A B PERKIER
BRESTR?
(Example 3: Two cars are traveling opposite each other at the same time from A and
B. The car driving from A travels 38 km per hour and the car driving from B travels
45 km per hour, and the two cars meet after 4 hours. What is the distance between A
and B?)
BEZEBALEHD TEFSKIERHIEI. (Please write the answers to the
following multiple-choice questions on your answer sheet.)
1 REE S, PEPOMIEIEEE, #i2it5H: (According to the question, to
calculate the distance between A and B is to calculate what?)

A. R ZEWIEEE % (Speed gap between the two cars)



B. AR ZERIEEFER (Sum of the distance travelled by the two cars)
C. PR ZERIEER (Speed sum of the two cars)
2. CRIPUARAERREE, BAITH 4 /N JE, MATHEERE 2 2/ TK? (Itis
known the respective speeds of the two cars, so how many kilometers will the two
cars have each traveled after 4 hours of travel?)
A. 152 180 B. 152 114 C.76 180
3. HAPHARIEZ DF2K? (What is the distance between A and B?)
A. 266 B. 335 C.256
fif(Solving): 38 X4=152(km)

45X 4=180(km)

152+180 =332(km)
Z(Answer):  FHZPHAAFE 332 F2K. (The distance between A and B is 332 km.)
B 4 PIRZ R RN ARBHXTE, FREPIT 4 TK, ZRE/PEAT 32
TARK,EE 4 /NS AHIE, P D AHBE S D TFK?
(Example 4: Two ships travel opposite each other from two ports A and B at the same
time, ship A travels 44 km per hour, ship B travels 32 km per hour, and the two ships
meet after 4 hours, how far apart are the two ports A and B?)
BEESXELEHUTEHEFEFMIEFHED . (Please write the answers to the
following multiple-choice questions on your answer sheet.)
1 RS, HEWEBOZREIERS, BMETH: (According to the question, to
calculate the distance between A and B is to calculate what?)
A. PABEAEIIIEE 2 (Speed gap between the two ships)
B. WA EEFER (Sum of the distance travelled by the two ships)
C. WA RIS FEF (Speed sum of the two ships)
2. DA CPRRCRRIEE, FEATRE 4 /NS, AATTHER AR 200l f2 2/ T-oK 2 (It
is known the respective speeds of the two ships, so how many kilometers will the two
ships have each traveled after 4 hours of travel?)
A. 176 64 B. 88 64 C.176 128
3. WS D (A [ BE BS /& £ /b 7 (What is the distance between the two ports A and
B?)



A. 240 B. 152 C.304
fift(Solving): 44 X 4=176(km)
32 X4=128(km)
176+128=304(km)
Z(Answer): H ZPHiAHEE 304 F2K. (The distance between A and B is 304 km.)
(4) REXTF B tES (Focused Subgoal-Labeled Worked Example)

BURE 1: /NERVN Sy ) R B AR Z P AR T AT, SN RITES
/NEHATHE 60 TR, /N ZHHM KT ER/PRHTE 15 K, £ 2 MiE,
WAAEE, ) ZRHAHEE S D TK?
(Example 1: Ming and Hong move opposite to each other from A and B respectively.
It is known that Ming drives from A and travels 60 km per hour, while Hong rides
from B and travels 15 km per hour, and the two meet in 2 hours. What is the distance
between A and B?)
BEEBKLEHUTRAERERZER. (Please write the answers to the
following prompt questions on your answer sheet.)
1 R E, FTHEHEOMIRIEEE, #i2itH: (According to the question, to
calculate the distance between A and B is to calculate what?)
2. HVNEIRUNAL R L, B AAT PN, ABATTH B R 0 A2 2 0 TK? (Tt
is known the respective speeds of Ming and Hong, so how many kilometers will they
have each traveled after 2 hours of travel?)
3. HAPHAEEZ DF2K? (What is the distance between A and B?)
fift(Solving): 60X 2=120(km)

15X2=30(km)

120+30 =150(km)
Z(Answer): H ZPHAHEE 150 F2K. (The distance between A and B is 150 km.)
BIRE 2: ANER/NZ S RIRIR AR Z AR TIAT, S50/ 1T 658 B
70 TK, NEHTFERERE/NE 50 TK, L1 3 /PEAHE, &5 F 2P
BEZ T2
(Example 2: Long and Yun move opposite to each other from A and B respectively. It

is known that Long driving at the speed of 70 km per hour, Yun driving at the speed of



50 km per hour, 3 hours later the two meet. What is the distance between A and B?)
BEEBKLEHUTRAERERZER. (Please write the answers to the
following prompt questions on your answer sheet.)
1 R E, FTHEEOMIRIEEE, #2iHH: (According to the question, to
calculate the distance between A and B is to calculate what?)
2.EHVNIEAUN S HPEREE, RAATE 3 /AN JE, ABATHIEREE 222 (tis
known the respective speeds of Long and Yun, so how many kilometers will they have
each traveled after 3 hours of travel?)
3. HAPWHARIEZ DF2K? (What is the distance between A and B?)
fif(Solving): 70X 3=210(km)

50X 3=150(km)

210+150 =360(km)
Z(Answer): H ZPHiAHEE 360 F2K. (The distance between A and B is 360 km.)
B 3: B ERIR A AL B PERAXTTTH, A A SRIT H S EF /AT 38 T
K, A BIRITHEISER/DRAT 45 TR, 4 /DEEREMRE, A B FERKIER
BREZHTK?
(Example 3: Two cars are traveling opposite each other at the same time from A and
B. The car driving from A travels 38 km per hour and the car driving from B travels
45 km per hour, and the two cars meet after 4 hours. What is the distance between A
and B?)
FEESREEHTRRME R FEIZ K. (Please write the answers to the
following prompt questions on your answer sheet.)
1 RS, TEPOMIEIEEE, #i2itH: (According to the question, to
calculate the distance between A and B is to calculate what?)
2. AP R R, BAITH 4 /N JE, MATHEERE 2 2/ TK? (Itis
known the respective speeds of the two cars, so how many kilometers will the two
cars have each traveled after 4 hours of travel?)
3. FWHAREE £ /DF2K? (What is the distance between A and B?)
fif(Solving): 38 X4=152(km)



45X 4=180(km)

152+180 =332(km)
Z(Answer): H ZPiAHEE 332 F2K. (The distance between A and B is 332 km.)
B 4 PEE R FER APRBHXTE, FRE/DRMT 4 TK, Z8E/DEAT 32
TRK,Z5 4 /N ARE, P D AHEE S D TK?
(Example 4: Two ships travel opposite each other from two ports A and B at the same
time, ship A travels 44 km per hour, ship B travels 32 km per hour, and the two ships
meet after 4 hours, how far apart are the two ports A and B?)
FEESREEHTRRMER B Z R, (Please write the answers to the
following prompt questions on your answer sheet.)
1 RS, THEMEEDZRIPEER, ®&TH5H: (According to the question, to
calculate the distance between A and B is to calculate what?)
2. CRIH Z PR AT L, FEATRE 4 /NI S, ARATTHIRR AR 200l g 220K ? (It
is known the respective speeds of the two ships, so how many kilometers will the two
ships have each traveled after 4 hours of travel?)
3. Wi IO 2 (A [ & £ /b 7 (What is the distance between the two ports A and
B?)
fift(Solving): 44 X 4=176(km)

32 X4=128(km)

176+128=304(km)
Z(Answer): H ZPHiAHEE 304 F2K. (The distance between A and B is 304 km.)



NE1 4177 & (Cognitive load scale)

(1) LrEH%% Jj(mental effort)

| | l | l | ! | !

1 2 3 4 5 6 7 4 8 9
ARH R n SRR AEH T
Very easy Medium difficulty Very difficult

(2) 1145 Mk (task difficulty)

I I — ! I —

1 2 3 4 5 6 7 4 8 9
ARH R n SR RSN AEH T
Very easy Medium difficulty Very difficult




TAREIZ B RS I B AR

(Working memory capacity test materials)

(6+8)3=11 | (3%3)-2=6 #3)-1=11
(1+8)-5=6 (9-3y+4=10 | (3+2)~6=12

(Ox1)=4=13 | (3x2)=8=15 | (8:2)-6=10

(4x2)-5=4 (7-6)+3=3 (5%3)-6=0 (1+9)-2=7

(O-1)4=12 | (4-3)6=2 2%6) -8=4 (6-3)-1=8

(5%3)-6=8 (7-5)y+4=6 (8-2y3=10 | (2d)-7=1

(93)=1=5 (7x2)4=10 | (5-2y4=8 (1X3)+6=0 | (8-1)-7=1
(@x3)+2=14 | (2+5)6=3 (3+8)2=9 (62)4=7 | (1+7)-5=3
(7-2)=3=6 (5x2)-8=2 (0-Ty4=7 (6-1)=7=13 | (4x5)9=11
(2+5)-3=4 (Ax2)=4=13 | (9-1)=6=14 | (72)-8=5 | (6-4y2=4 | (3+5)6=2
(8-2)+3=8 (5x3)-9=7 (2-1y+6=7 (43)+5=6 | (1x4)2=2 [ (7+2)3=4
(3)4=10 | (9-3)-4=8 (5+3)6=1 (3x5)-7=0 | (6+1)-5=2 | (6x2)+2=14




IEBMIEEAEL (Transfer test materials)

R (Individual choice questions)

1 WL ol WU AT, B BIGE 45 K, L8Pk 37 K, &id 3
RN B, B P HLAR R £ 2D 2K 2(A and B are walking opposite each other
from two places, A walks 45 meters per minute, B walks 37 meters per minute, after 3
minutes they meet, what is the distance between A and B?)

A. 111 B. 135 C.246

HHERBEEBA L, 2T EHIT T —@. (Please write your answer on
the answer sheet, and then press the space bar to answer the next question).

2. NERAVNE RN A B PIHBEGAT . AR . ANIREENIFATEE 12 0K, /b
EARPIATEE 19 TR, 2208 3 /NP ALETIRAE, K A B AR 2 /> TK?
(Zhang and Wang ride opposite each other from A and B respectively. Zhang rides 12
km per hour, Wang rides 19 km per hour, after 3 hours, the two meet, what is the
distance between place A and place B?)

A. 36 B. 57 c.93

HHERBAEEEA L, 2T EEIT T —@. (Please write your answer on
the answer sheet, and then press the space bar to answer the next question).

3. ANTAVINGE S35l AR BE 84 2K (R 2R o W ARG 1T AT, N RN AT HE 3 K,
NREFNIATHE 4 TR, 1) JLNI Ja /N e/ g T LLAE Hh g A i 2(Long and Hu
are traveling opposite each other from two places 84 km apart, Long walks 3 km per
hour and Hu walks 4 km per hour, how many hours will the two meet?)

A. 12 B. 21 C.28

HHEREEEBA L, ZERTHEEIT N —/@. (Please write your answer on
the answer sheet, and then press the space bar to answer the next question).

4. X3 Y PN T BA 23 ANAREE 114 2K (0 B AL o9 AR [R5, %0 X
TRAERE R T 2 ToK, Y i TRNEE R L 4 ToK, 18JLRE X. Y BBAAT BAAH
15 2(There are two construction teams (ie. X and Y) respectively from 114 km away
from each other A and B two places opposite to start construction, it is known that X

construction team construction 2 km per day, Y construction team construction 4 km



per day. How many days later can the two teams meet?)

A. 19 B. 24 C.29

HHERBEEEA L, 2T EEIT T —@. (Please write your answer on
the answer sheet, and then press the space bar to answer the next question).

MF & (Application question)

5. PUNBRZE 73 IR . PEPIIRIRIIN A, AR TOAT, 225 4 /NIAED I A
B, KT NATEE 66 ToK, /NRATIER/NATHE 78 TOK, KA. 14
A3 A 25 ? (Two trucks set off from the east and west cities at the same time and
travel opposite to each other, after 4 hours meet at the logistics center, the big truck
travels 66 km per hour on average, the small truck travels 78 km per hour on average,
find the distance between the east and west cities?)

W EMN FS H e BRSSPI, 2R T EEIT T —/. (Please write the
complete solution on the answer sheet, and then press the space bar to answer the next
question).

6. CLAIRUEL LN LA T E] IR EE B 9 96 T-oK,  Forb N DORUELLL H &, Al ) s
JE 5 TR/, AN L B A, AR D 3 oK/, PN RN AR I
17, RJU/NEF SR AT B BLEE A i 4538 2 (It is known that Phoenix Mountain and
Castle Peak Cave are 96 km away from each other, Xiao Li from Phoenix Mountain,
his speed is 5 km per hour, Xiao from Castle Peak Cave, his speed is 3 km per hour,

they both travel opposite to each other, how many hours after they can meet?)
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